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1st Round RiER (6,283y Par72)
POS PLAYER CLUB TOT 0 I POS PLAYER CLUB TOT 0 I
1 {8 SEF ==-1G 70 36 34 39 dff] &3 vivaEG 82 41 41
2 WFT —F W&c 73 37 36 EHX EE #IR 82 39 43
3 %K Bt e 75 38 37 =2 i orvvEic 82 39 43
B IEZ @k 75 37 38 46 EfE {EF 4 83 40 43
)t # ¥ ftea-tevc 75 37 38 B ffish JHILC 83 43 40
XIE #E mLEEc 75 36 39 SHEZFA Wrtc 83 44 39
mAK KB 4C 75 36 39 IBHE FHH FVC 83 42 41
8 &m H— LG 76 38 38 EE & mtvbc 83 41 42
BA {EH EEC 76 36 40 %k F5H lEC 83 45 38
INE " 4IAC 76 39 37 E B hkC 83 42 41
HF I AikC 76 38 38 3 [ B aoc 83 41 42
#0O F§F FIC 76 36 40 FIER  #EBR wEC 83 42 41
13 BFE FF Anc 77 40 37 55 RIFF F{E mHiC 84 42 42
+E EE 7wvrmc 77 38 39 B &EA WmEG 84 41 43
WA {88 Fhclkgkx 77 39 38 =mHE EF FmEC 84 40 44
Wt L mgoonbc 77 38 39 58 WO BBIE #C 85 41 44
®B#%E SR ERC 77 38 39 BE B kuv-sc 85 45 40
18 Bl EH wuv-#c 78 38 40 X% ME #lC 85 42 43
KIl |E 4IAC 78 38 40 61 FHL # a-~4Gc 86 39 47
AL ® o)=G6 78 39 39 EEE RER WoECc 86 41 45
IRE BHE ivw/Gc 78 36 42 63 BER {EZ WERG 87 42 45
WT &z FmaEc 78 40 38 = b B /706 87 44 43
B0 BX the-keve 78 39 39 FH = OEVC 87 40 47
24 5% BER WMHEAEG 79 41 38 SlE A— ZFFC 87 44 43
o 34 E E¥C 79 39 40 67 £H [EME “AUBLG 88 43 45
IR 3 silC 79 38 41 KEBEAE HZEMC 88 44 44
R EE MlC 79 37 42 69 K#B #® mrtc 89 42 47
28 {£E IEBR (i 80 37 43 = Bt orvuikc 89 43 46
mE fE— @tvobc 80 40 40 71 BE B 706G 90 43 47
FH &EE #osc 803941 72 EE #iA wmoHC 91 40 51
% [E £ HEG 80 40 40 Ek BBE /77mMc 91 42 49
AR A& munrc 80 39 41 X% #&F— wMC 91 44 47
W\ F akohc 80 4139 75 FHAR K EEC 92 47 45
g1l E— Bwc 80 42 38 76 RE HF wEC 93 48 45
35 ® Bl AuiC 81 4338 77 =E M wr-Hic 94 44 50
BHE FA HEEC 81 40 41 X WA FEx /77rmMc
X RE B OmLERG 81 43 38 & HITH  BEE SulC
RE ®E #brrc 81 42 39
39 BEXR Eth miac 82 43 39
i H = jevac 82 39 43
INE EE SEC 82 43 39
WE EBEE MEC 82 41 41

1st Round R#ExR (5,947y Par72)
POS PLAYER CLUB TOT 0 I POS PLAYER CLUB TOT 0 I
1 djil BE mmEc 70 37 33 42 £ —i mika-ic 84 40 44
2 Nl ®E 7vramc 74 35 39 iz e 84 42 42
3 BEH fi— @c 76 39 37 =B —ite 84 42 42
He BEE e 76 35 41 % = pivwc 84 40 44
5 Il S# fhEC 77 37 40 = B i =G 84 41 43
BES ®Z yivwe 77 36 41 fAE  SF SEC 84 43 41
HE & moEC 77 37 40 49 #EH KIE 1fic 85 40 45
8 MEFE—H HikC 78 38 40 JKHE FEB ~1G 85 39 46
WA=+ Z¥C 78 39 39 IR EE #hiEC 85 43 42
LI B Enc 78 3939 52 K 5 @5 NC 86 39 47
REIZMT #HEG 78 39 39 BA HB WmHERG 86 41 45
wl Bt wEC 78 38 40 KB B slC 86 43 43
it Bk Fhclkk 78 39 39 BHE ZH RUEKRGC 86 40 46
HXEEE 2% 78 35 43 XEB EE s 86 42 44
15 IRPpEEA mILEKRG 79 38 41 WH —% u#c 86 46 40
HKHE mX 4kC 79 40 39 th)l| #,— 2i{-~1GC 86 39 47
FH FEXx wlc 79 38 41 59 A SEE &C 87 45 42
18 A &R 4ikC 80 39 41 INR EZ NERG 87 39 48
BB EX &G 80 38 42 =} 885k ta-tevc 87 43 44
Tk BB 7hclksd 80 40 40 a2H B mwosc 87 43 44
A0 ZH ZAUSLG 80 41 39 B G 87 41 46
Il & wrvEizc 80 37 43 64 JLiE Bh @EiC 88 42 46
i @R WmEC 80 42 38 Bl X m#Ec 88 41 47
24 Affs IEBh MG 81 3942 66 & H— JEC 89 43 46
fit] &B B AIhC 81 38 43 67 =4 =A{E AKC 90 47 43
il B RERG 81 41 40 XEH e tai7c 90 42 48
=B B AKG 81 40 41 69 &M B mur—+1c 91 46 45
BSH BRE AU 81 40 41 =Sl BX =G 91 42 49
hE BE 7vwrEmc 81 37 44 HE B mko-C 91 46 45
30 EH FBE HUTG 824240 72 B/FH FERXR WEC 92 47 45
R [EBA HEiC 82 38 44 73 HAf HE= ~v7/G 93 45 48
=% Bux SEC 82 3943 X W[ Fif G
% T moEc 823943 X Bft FE— HEHG
23 EOFEIRC 824141 X % IE 47 WECc
35 K&t H|iE sk 83 42 41 XMk Ek dERc
MHEA A ovaikc 83 4241 X HEF &RE Fholksx
mE BX t#EC 83 4340 X _fBIF & fiEC
NI % E%G 83 43 40
FE & OREEG 83 42 41 #R: E 259 A 25 A
Ak EX ionC 83 36 47 B SA AU — B
AR BE& mRERC 83 43 40 QR B Il 2 ESB
42 KiE FEH RUEEG 84 41 43 BmRZER WIPEAER




